CUSTOMER'’S SERVICE: BT-SERVICECENTER@OUTLOOK.COM




Component List

Label Picture Description Qty
A Folded Chair 1
B LAF+RAF Armrest 2
C Pedal Cushion 1
D \E j/ Rung Iset
E Mahogany Roundel 1

2/8




Label Picture Description Qty
H1 13 M6*20mm Bolt 4
H2 (i M6*35mm Bolt 4
H3 Qrm () M8*25mm Bolt 2
H4 [)mm M8*35mm Bolt 4
H5 © 6.5*18*1.5mm Flat Washer 4
H6 O 8.5%22*2mm Flat Washer 4
H7 — M6 Short Allen wrench 1
H8 L 13mm Spanner 1

3/8




Assembly Preparation

Before Assembly: Ensure you have all parts.

Hlx4 H2x4 H3x2 H4x4

mp i D ()mm
Cm  (Omp  Om) Q)
O (i (©)
O ¢ ume (0) g

Bx2

Cx1

— &L

H5x4 H6x4 H7x1  HS8x1

©
©
©
©

O — o=
©

©
©

V * Unpack all hardware bags and components to ensure you have all parts.

oUze

Read instructions, cover to cover.

Have 2 adults on hand for assembly.

# Save all packaging until finished.

Assemble on a clean non-marring surface (packing foam).

4/8




Assembly Step

[CAUTION]: Assemble on a clean non-marring surface.
Open the zipper,Take out Folded Chair(A) and Bolt(H3) from the back,then use Short

Allen wrench (H7) and spanner (H8)insert each Individual set of hardware as per
picture shown.

Step 2

(mm  H2 4pcs
[ H7

[CAUTION]: Assemble on a clean non-marring surface.
Take out Armrest (B) and Bolt(H2) ,then use Short Allen Wrench (H7), insert each

Individual set of hardware as per picture shown.

5/8




Assembly Step

Step 3

(Omm H4 4pcs

@ H6 4pcs

—— H7

Take out Bolt (H4) and Flat washer(H6).Put it on rung (D) and Mahogany Roundel
(E),then use Short Allen Wrench (H7), insert each Individual set of hardware as per

picture shown.

Step 4

After the Step 3,Take out Bolt (H1) and Flat Washer(H5) ,Put it on Pedal Cushion(C),
then use Short Allen Wrench (H7), insert each Individual set of hardware as per

picture shown.

6/8




Step 5




CUSTOMER'’S SERVICE: wu-chris@bjtjfurniture.com  nora@bjtjfurniture.com

Care & Maintenance

669
Q) T « Do not put hot items directly on furniture surface.

=
® U e Do not clean furniture with harsh cleansers or polish.

iy

e Do not place furniture in direct sunlight.

L]
AL
faast

g

® e Do not place furniture near heating or cooling vents.

® ﬁ e Do not write on furniture without a padded barrier to
LT protect the surface.

@ (._) e Do not place furniture outside. For indoor use only.

v @ e Dust and pick-up spills using a clean, non-colored,

lint-free cloth.

e Stains may be removed with mild soap solution and
damp cloth.

8/8




	Amazon Assembly Instruction-20180518-1
	Amazon Assembly Instruction-20180518-2
	Amazon Assembly Instruction-20180518-3
	Amazon Assembly Instruction-20180518-4
	Amazon Assembly Instruction-20180518-5
	Amazon Assembly Instruction-20180518-6



